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o2dx4 30,000& »28H » 12& 10,080
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OA & &l 8 XYl 3,000,000& 3,000
301 et A= 32,400 0 32,400
10 HALAHI B A2 14,400 0 14,400
O A& 30,000& * 10 £t *8Al 2H*x6 & 14,400
12 JIEtE A2 18,000 0 18,000
OFCIXXHEH NASALL E&2
12,0003 #2522 x10H x6& 18,000
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o LIXE 500,000& = 1LH 500
o FUXNXA JPLH 11,015,800& = 1CH 11,016
O35 LAt 4,209
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O3z == A 4,658
0/R4d ¥Z 1,084,000& = 1CH 1,084
o 2401013 &EXI 213,400& = 1CH 214
o Uis&EA It A 3,360,000 x 14l 3,360
O35 Tz &A1 b2 1,218,000& 14 1,218
ORXoHs 494 390
o 224l 390,000& 14 390
O35 JIH7<A 2,139,400 14! 2,140
O4s ESAHA 2L 4,462,200 x 14! 4,463
O4s 23t 4a-3 8,140
o HHZZAME 3,025,000& = 1CH 3,025
o Estuwal It 5,114,190 & » 14! 5,115
O4sE 7Y 2,139,400 1Al 2,140
O58 ZEHA 9,826,500& *14] 9,827
O58 fsral 7,267,500 x 1Al 7,268
O5& A4 7,103,600& *14] 7,104
O58 M1 9,316,000 » 14!l 9,316
HHHAHNPE 93,342 93,342
AT s 7,400 7,400
B2 AY 3,000 3,000
01 AF2 & 3,000 3,000
Os¢& A2F 72 3,000,000& 3,000
405 Kok 4,400 4,400
01 XbAr 4,400 4,400
S A QIR0 E) 400,000 = 1CH 400
O= A 4,000,000& = 1CH 4,000
A A S| 85,942 85,942
U2 A Y| 22,000 22,000
01 AF2 & 17,000 17,000
OdlH 17,000,000 » 1Al 17,000
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O&&28 AEM HEA 29
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401 A& HIZ 201 I 63,942 63,942
01 A& HI 63,942 63,942
O2& =3tH WS 2H2IH 14,688,000 1Al 14,688
ORAM U OSHA =Y R2ITA
5,253,600 x 14! 5,254
O&EAN WS At 2 AIEX 6,000,000 *14] 6,000
OFQldg 2tet 3,000,000 1Al 3,000
O&3A 2ctelE 44X 20,000,000& =14 20,000
od&E &X 15,000, 0002 14 15,000
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01 AL ESFH S 22,277 22,277
OQAA I3 13,536, 3003 * 14! 13,537
Os&4 &l S 1,437,000& 14 1,437




o

9_ —

20

W A
O 0 <10
7N =
= 80 &
i 0b RO

%0
Ho %0 ~

o o

< RO T

<

no
Kl
El
E=]
LH 3r
uilEd
RS
(ep)
R
~
aor
<
(=
<
ar |~
o |®
g |8
. o
I
=z |~
I+
=z |uo
iy @l
= |
w 0
= |4
m}m 0
_.w K
&
g X
. 0H
= O
I+
rr
A




